Calculus II

Quiz 4

Me

Name:

Explain your solution process clearly.
Write legible.

- 1.(5 points) Let f : R? — R be a differentiable function. Suppose
f(1’2) =3, fm(172) =2 and fy(1a2) =-1

Let g(t) = (3 cos(t) — 2+ 2¢,sin?(t) + 2). Find & (f o g) (0).

glo)= (360,0/0)/2.,-9%%)%) = (3-2,2) = (1,2)

G (o)1)= 2 (910) 9,00 £y (500 9.0 | whure
0, (t)= Bapt-2t2t @,’(%)s—gww-z = 9,/(0)= 2
9. (€)= W' (U121 = 9,'(€)= 2y (€) ar(t) = 9,(0)=0

A (fg)lo)= 4

2. (5 points) If w = f (—;’Lg) is a differentiable function of u = -, show that
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